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No. of Questions: 100 

mqjt~: 100 

Time : 90 Hours J [ Full Marks: 300 

<f'flT : 90 'fT"t 1 [~:300 

Note: (i) Attempt as many questions as you can. Each question carries 3 (three) 
marks. One mark will be deducted for each incorrect answer. Zero mark 
will be awarded for each unattempted question. 

~ ~ q;t 'l"R ~ <!iT I!<W! <R I JWlq; WA' 3 (<lR) 3i'li <!iT t I 

~ '1f'i'Iff 'i3'ffi' ~ fWr f{'ff afifi q;JCf iiI7lPrr I JWlq; 31 jii R ti WA' <!iT "' '<11 '" 

'I)."l ot<n I 

(ii) If more than one alternative answers seem to be approximate to the correct 
answer, choose the closest one. 

1. Who gave the law of learning? 

(1) Watson (2) Thorndike (3) Pavlov (4) Newton 

~ <!iT RI<iI'<1 ~ ~ 2!T 7 

(3) ~ (4) "'IPl 

2. In the childhood, individual's behaviour is mostly influenced by : 

(1) Community (2) School (3) Peer group (4) Family 

" I 0'11 q <<.!T if '''If<ffi <!iT '" q 5" :J"'! _ off ~ lffin t : 
(1) 'R'lM off (2) fil ",Ii", 11 off (3) 'Gffi9T off (4) tJftw off 

3. Which is not a primary motive? 

(1) Affection (2) Hunger (3) Sex (4) Thirst 

1 P.T.O. 
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~,'t 'liR 'f'Ii ~ ~ ~ ~? 
(1) "':J'T'T (2) 'i"" (3) Wffr (4) "Iffi 

4. If there are 23 teams, how many byes will be given for a knock out tournament? 

3!'lX 23 GO! ~ cIT 'f'Ii '1l<f> 3ffiaC "RI"~ fi'I <11 -$ ~ ~ ~ ~ ~ ? 

(1) 5 (2) 7 (3) 9 (4) 11 

5. Blue print of the competition plan is called: 

(1) Technique (2) Tactice (3) Strategy (4) Skill 

"RI'nfi'l<11 if ~ qj] ~ -$ ~ ",q~"" qir ~ II : 
(1) <1"'.;1", (2) Zfik'H (3) ~coi1 (4) ~ 

6. The structure of the sex chromosome of mother is : 

(1) XX (2) XY (3) Only X (4) Only Y 

" -$ Wffr '" qj] -.ffifi ~ +=rT a'>1111f11+"l fHiF'I1 : 

(1) XX (2) xy (3) fWt X (4) fWt Y 

7. Hydrotherapy is also called as : 
(1) Ice therapy (2) Water therapy 
(3) Wax bath therapy (4) Heat therapy 

~ qir <!t' oj) '!>lIT UITt1T ~ : 

(1) ~ Rlflhct11 (2) i:ifO[ Rl flh ct1 I 
(3) oW! 'AR Rl flh ct1 I (4) ~ Rlflhct11 

8. Scoliosis is a postural deformity related with: 
(1) Foot (2) Leg 
(3) Vertebral column (4) None of the above 

~ 'f'Ii '" ~ R", '!jM (11 ~ "IT -wnmr II : 
(1) '1'fq,'t (2) it<,'t 
(3) ~ qj] ~ ,'t (4) Gq,~<tt1 if ,'t ~ ~ 

9. In the rehabilitation process the term RICE means? 

(1) Rest, Ice, Compression, Exercise 

(2) Rest, Ice, Competition, Elevation 

(3) Rest, Inspection, Compression, Exercise 

(4) Rest, Ice, Compression, Elevation 

(2 ) 



(1) tR. ~. ",'ll " '1. ~"""'<11*'" 

(3) tR. ;it<) ""''1. '" 'll" '1. ~ "'""" *'" 
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(2) tR. ~. ",011~,,'1. *~~"'1 
(4) tR. ~. ",'ll " '1. *~~"'1 

1 O. The fat stored just under the skin is known as : 

(1) Essential fat (2) Cutanious Pat 

(3) Sub cutanious Fat (4) None of the above 

= "' <l\q; ~ q]« "IR qffi 'ffi1 q;') <!>Of "GfffiT ~ : 

(1) "i 1 " ,"'" 'ffi1 (2) ",ef.l "'<1 'ffi1 

11. Increase of muscle mass due to heavy weight training is called: 

(1) Osteoporosis (2) Muscular Hypertrophy 

(3) Muscular Atrophy (4) Haematoma 

'lR'r 'lR-"~11!1"T "' "1ffiUT ~ qffi ~ fil;s q;') m t : 
(1) "i1if<:'l1q1<'1R1'<1 (2) ""!i0" ",*q<~M 

(3) ""!i0" ~ (4) (\iI,,1", 

12. The back thigh muscles are also known as : 

(1) Hamstring (2) Gluteal (3) Gastrocnemius (4) Quadricep 

uiTe! "' <It!> qj\ ~ q;') <!>Of "GfffiT ~ : 

(1) ~"~" (2) 'Cj~," 

13. The longest muscle in the body is : 

(1) Deltoid (2) Iliopsoas 

(3) Pectoralis Major (4) Sartorius 

mitwj] "IR~~~~~: 
(1) ~<'CI~;S (2) ~ ~ l1~ Gfq 1x:1 

(3) q ",,1 < ro, '<1 *"' (4) '{i1,<c~Rlif{ 

14. Vpto the age of puberty the sex hormones is secreted by : 

(1) Pituitary gland (2) Adrenal gland (3) Testes (4) Ovaries 

f<l>,n"",<.[] "' '!.'f "'" ffi<:! ,,1'1\"11 -..r fffiTq fi!Rrr "GfffiT ~ : 

(1) RI~'lc~ 1if>! (2) ~~'1," ~ (3) e<t)", (4) ~ 

( 3 ) P.T.O. 
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15. In which Olympic did women participated for the first time? 

(1) 1896 Athens (2) 1900 Paris 

(3) 1920 Antwerp (4) 1928 Amsterdam 

" 1%" 13lT o't ~ ~ ~ on" fi'q '" 1'( 'IT'T fu1!T 'IT 7 

(1) 1896 ~oRr (2) 1900 <!fffi 
(3) 1920~ (4) 1928 311'«''''" 

16. Dronacharya Award is awarded for: 

(1) Outstanding Sportsman (2) Outstanding Sportswoman 

(3) Outstanding Sports cornmentrator 

"1""~14 3'''''''' ~ umrr % : 
(1) ~ ~ ~"'4I q;] 

(3) ~ <lrof "<;~l"'" q;] 

(4) Outstanding Sports coach 

(2) ~ 'If&rr ~,,'4I q;] 

(4) ~ <lrof ~ q;] 

17. John Dewey propounded the philosophy of: 

(1) Naturalism (2) Realism 

(3) Idealism (4) Pragmatism 

;:;iR ~ o't ~ ~ "iii! "fci q 1 "" fil>'lr 'IT 7 

(1) "'.!'fci",,, (2) ~ 

(3) """'\"'" (4) "1lqoIR", "'«JIlI"," 1 

18. Which is the outermost connective tissue layer of a skeletal muscle? 

(1) Perimysium (2) Epimysium 

(3) Endomysium (4) None of the above 

~ q..rr 1'( ~ ~ fj"i",l '""'" <t\ "<'!ffi!" q;J.,_-,j) % 7 

(1) q~"'.R1"" 
(3) q"Sl",.R1,," 

19. Ball and Socket type of joint is a : 

(2) Q41",.R1,," 
(4) "q<\<tt1 1'( ~ ~ '!l\1 

(1) Fixed joint (2) Uniaxial joint (3) Bi-axial Joint (4) Tri-axial joint 

'IT<'! 1f'i 'RT'k m "iii! J:I""iIiT'I o'Rrr % : 
(1) ~ m (2) 'I'P",afm m (3) ~-3lafm m (4) ti"-3!afm m 

( 4 ) 
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20. Which of the following is a two joint muscle? 

(1) Bicep brachii (2) Deltoid (3) lliopsoas (4) Sartorius 

f.1 "1 ~ R<1 \1 1\ ~ 'Ii\<r 1f'I' fS -~ itmT ~ ? 

(1) ~ Jtq\T (2) ,g<'CII1;G (3) ~~I1\q-qI'H 

21. At what stage the secondary sex characteristics develops? 

(2) Adolescence (1) Childhood 

(3) Adulthood (4) None of the above 

f<lm 3l<W1T 1\ ~ Wm TT ~ Nit ~ ? 

(1) .'<'11'0<"<[ (2) fi\>"\<lo'<'4T 

22. Which city is going to host the Olympic Games in 2012 ? 

(1) Seoul (2) Atlanta (3) London (4) Beijing 

"fP[ 2012 1\ 'Ii\<r-~ w.« 3il",fl\1", q\T ~,".,q, ~ 'Ilill ~ ? 

(1) fu>ir<'l (2) 31~'" '''', (3) oi<:<! (4) <\\fWr 

23. Harbans Singh had developed a skill test for : 

(1) Football (2) Basketball 

(3) Hockey (4) Volleyball 

'-"'Rl fuo ~ 1f'I' ~ q\T 'lfrlffi ~ 2\T : 

(1 ) '!!, "., '" <i; fuI< (2) ., t<ii ". 1 '" <i; fuI< 
(3) 1ii<#t <i; fuI< (4) 01011 • 1 '" <i; fuI< 

24. Who was the Sports Minister of India during 2010 Commonwealth Game? 

(1) Mr. Suresh Kalmadi 

(3) Mr. M. S.Gill 

(2) Mr. Lalit Bhanot 

(4) Mr. Kapil Sibbal 

2010 051 '1 'i ~ oo:r ~ <i; ~ 'fffil <i; 'ffi>r <rtT 'Ii\<r ~ ? 

(1) fi't 0 ~ '" <'1'll.,;l (2) fi't 0 ~ 'l'1lc 
(3) fi't 0 ,,"0 ,,"0 fiI<'1 (4) fi't 0 'ii>fit<'l ffr"f<'1 

( 5 ) p.T.a. 
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25. If the length of a Table Tennis table is 9 feet what will be its length in meter? 

(1) 2.65 mts (2) 2.50 mts (3) 3.00 mts (4) 2.74 mts. 

"$; '01' ~ tf.m q\T ~ 9 'l\t"c t\ ill ~ ~ ~ if 'f'!T 6T<1T 7 

(1) 2.65~ (2) 2.50~ (3) 3.00~ (4) 2.74~ 

26. For endurance dominating sports the diet should be rich in : 

(1) Proteins (2) Carbohydrates (3) Minerals (4) Vitamins 

W<i<"ill q\T 3!fil= ~ """ 'Ii fffi: ~ if ~ ~ ~ • 
(1) mm q\T (2) ""'I1,,,~*c q\T (3) fiH'Rl q\T (4) ~clfll'1 q\T 

27. Concentric and eccentric contraction of muscle is a part of: 

(1) Isometric Contraction (2) Isotonic Contraction 

(3) Isokinetic Contraction (4) None of the above 

~ 'l>T <!>",W'i;<!> 11ii ,~~ ,~ '01' 'IT'T t\ • 
(1 ) 311 ~ 'H~ ~~ I]; <!> Wg"'R 'l>T (2) 311 ~ fiI c I f.1 <!> 'Ii '!l "l '1 'l>T 

(3) 3!TI;".m<!>I~~~ 'H'!l"l'1 'l>T (4) ~q,l,," if "<'t ~ '"!!IT 

28. What is the normal duration of a menstrual cycle? 

(1) 24 to 26 days (2) 28 to 30 days (3) 34 to 36 days (4) 38 to 40 days 

'1jfu'fi $\ 'Ii = 'l>T '11'11 "1 'R'l'l o'tw t\ • 
(1) 24,'t 26 f0 (2) 28"<'t 30 f0 (3) 34"<'t 36 days (4) 38"<'t 40 f0 

29. If the mean of five scores is 25 and standard deviation is 0 what will be the 
value of fifth score? 

(1) 22 (2) 23 (3) 24 (4) 25 

30. The another name for percussion manipulation is : 

(1) Petrissage (2) Knccding (3) Pressure (4) Tapotment 

q~ ~ 'l>T "-<TXT '"WI t\ . 
(1) q,",'HIC1 (2) ~ (3) m 

( 6 ) 
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31. The game of Hockey starts with: 
(1) Bully (2) Forward pass (3) Back pass (4) Scoop 

o'fqj\ Nor 'l" mm ~ 
(1) ~ ~ (2) :mit qro ffi (3).w qro ffi (4) ~ ~ 

32. In long jump the tie for the first place is resolved by ? 

(1) Providing an additional chance 

(2) Considering the next best performance 

(3) Both were given first 

(4) Considering the number of fouls committed 

erM UM it ~ ~ 'l'{ 1I'-f'l ~ f.1~i10 f<l>m umn ~ : 
(1) 1f'!i 31 ~ R <m «ffi ffi 
(2) ~ ~ 3fiUT qRoil" ~'-""" 

(3) GBT"'lit 1I'-f'l ~ ~ urri\ " 
(4) fl!>ir <n'\ 'I" ~ oIi q\j ~ ~ '-" "" 

33. The Expedite system is used in : 

(1) Volley ball (2) Tennis (3) Table Tennis (4) Football 

(1) ql"~OI'" it (2) tf.m it (3) rn tf.m (4) '!leOI'" it 

34. The hydrophobia is caused as a result of : 

(1) Cold and Cough (2) High fever 

(3) Dog bite (4) Snake bite 

51.)'il'l>lRi'11 ~ 'l>T i!>RUT ~ : 

(1) ~ q '!J"'T'l (2) ~ olq",'1 

(3) ~ * 'liTC"t ~ (4) ~ ~ 

35. The 50th percentile is also known as : 

(2) Median (1) Mean 

(3) Mode (4) None ofthe above 

q i11 '{OJ ~'r ~ f?I :t I i ifi \ilT'lT \ilTffi t : 
(1) 'f1U! (2) ~ 

(3) ~ (4) ~q<l<m it ~ qIr{ '!ti 

( 7 ) PTO. 
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36. Bass stick test is used for measuring: 

(1) Agility 

(3) Endurance 

'!ffi ~ 'ltT1ffUT ~q'll" f<l;<rr = 1\ , 
(1) ,<q"'<11 'lJCA tg 
(3) f.1'<1'<11 'lJCA tg 

(2) Balance 

(4) Speed 

(2) ~ lffCf'1 tg 
(4) -.ffi\ 'lJCA tg 

37. The instrument to measure height is called: 

(1) Vernier calipers (2) Dynamometer 

(3) Stadiometer (4) Goniometer 

~~ 'lJCA <i> <i?l 'lit <!>lIT = ~ , 
(1) "1!f.'\m $f<1qfl (2) ",,,~"l<i1c' 

38. Sit and Reach is a standard test of measuring: 

(1) Agility (2) Coordination 

(3) Strength 

ftre: """ ~ '!N'l q\j 1{'Ii 'If'f'li tRrerr ~ , 
(1) ,<q"'<11 <i> fu<I 
(3) <Wlf(l <i> fu<I 

(4) None of the above 

(2) fll *" «1 <i> fu<I 
(4) ~q,l<tt1 if '1l ~ ~ 

39. Standard deviation represents spread of scores around; 

(1) Mode (2) Median 

(3) Mean (4) None of the above 

'IT'1<1> ~ '< '" '1 ~ 3iq;'f <i> ~ 'lit Gffi<n ~ 7 

(1) 'I£WI' (2) ~ 

(3) 'llUf (4) ~q'l<tt1 if '1l ~ ~ 

40. Which is a test for measuring cardia-vascular fitness? 

(1) 50 mts. Dash (2) Shuttle run 

(3) 12 min cooper run/walk test 

lR'I qRti'<'"1 'WIT 'lJCA q\j tRrerr ~ , 
(1) 50 ~ 'I><fcr <:'\9 
(3) 12 fiRe ~ <:'\9/"<ITOR 'ltT1ffi 

( 8 ) 

(4) None of the above 

(2) 'ITCO! <:'\9 
(4) ~q'l<tt1 if '1l ~ ~ 
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41. Sphygmomanometer is used to measure: 

(1) Blood Hemoglobin (2) Blood Cholesterol 

(3) ""'" WR 

\\f) 1llooa'Volume 

(Z( ~ OJ (<i.(~'"«"" 

(4) ""'" ~ 

42. Which artery carries the supply of blood towards heart? 

(1) Carotid artery (2) Coronary artery 

(3) Pulmonary artery (4) Radial artery 

~-~ t!'AT X<ffi mT ~ qj\ 3lR <'t umfT ~ 7 

(1) $<i1R", t!'AT (2) "'\,\.,~ t!'AT 
(4) ~ 1% ,,,,, t!'AT 

43. Which of the endocrine gland disappears or reduced to a very small size after 
maturity? 

(1) Gonads (2) Pituitary (3) Thymus (4) Thyroid 

~'ffilT <I; 3!T"t em> ~-~ 3ffi,~ ui2\ 'IT <it 'IT'I'! ;IT umfT jl 3l'1<1T "§tl <iT b oj 
umfT ~ 7 

(1) q'i'1I,&'H (2) fi1~~c~ (3) ~ (4) '11."." 

44. In a cardiac cycle what is the ratio of ventricle systole and ventricle diastole? 

(1) 0.1 sec/O.7 sec 

(3) 0.3 sec/O.5 sec 

(2) 0.2 soc/0.6 sec 

(4) 0.4 sec/0.4 sec 

1f'Ii ~ <riP ~ ~fil~",,,, RlfC'''' = ~fil~",'" "'~'-c'''' 'liT 'l'lT 3fj'lT<l oTill jl 7 

(1) 0.1~/0.7~ (2) 0.2~/0.6~ 

(3) 0.3 ~/0.5 ~ (4) 0.4 ~/O.4 ~ 

45. Which of the following is a scalar quantity? 

(1) Mass (2) Weight (3) Velocity (4) Gravity 

~ "tt ~-~ 1f'Ii ~ m jl 7 

(1) 'lR (2) 'fOI'l (3) ~ (4) j'''''''''~"' 
( 9 ) P.T.O. 
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46. What award were given to the winner in the ancient Olympic? 

(1) Gold Coins (2) Caps 

(3) Wild olive leaf crown (4) Medals 

I!T"iA ail 01 fi'q i)j it f<N!m i!>T "1f1l1 ~ f<:'lr = 'IT 7 

(1) "filo'r '" ~ (2) ~ 
(3) ~ 'l>T 'Till 'l>T :!'!jC (4) 'lGCP 

47. The body which controls the participation of Indian teams in Olympic Games 
is? 

(1) AAFI 

(3) lOA 

(2) laC 

(4) SAl 

qg -ffi'lT "l'r ail 01 fi'q i)j ~ it 'iR$:r "GOiT '" 1% <"iI " I ~ 'l>T ~ qmf) j\ • 

(1) ,<0 ,<0 'Rio ~o (2) ~o 3/\0 mo 

(3) ~o 3/\0 ,<0 (4) 11"[0 ,<0 ~o 

48. The term "Altius" in the Olympic motto denotes: 

(1) Higher (2) Paster (3) Stronger (4) None of these 

ail 01 fi'q i)j '" ~ = it "OJ GelH1" mG G'IlI<rr j\ • 

(1) ~ ~ (2) ~ ffi;r (3) ~ d,i)jdO' (4) 'f'l"l <'t i!>T-{ '!tl 

49. The test that measures reaction time is : 

(1) Standing broad jump 

(3) Stick drop test 

qg <R\a'fUT "l'r 0 R1 Fsl"" 'ff'fl[ '1NdT j\ • 

(1) ~~~~ 

(3) ~~~ 

(2) Shuttle run 

(4) Bass stick test 

(2) =<'[ 'A 

(4) _~~ 

50. The normal temperature of human body is : 

(1) 98.4'P 

(3) 96.4'P 

1'JFfCf m Cf>T *11111 ~ ti I q Ii l"i ~ : 

(1) 98.4 ~ "'1~1"'~C 

(3) 96.4 ~ "'1~1"'~C 

( 1 0 ) 

(2) 97.4'P 

(4) 99.4'P 

(2) 97.4 ~ ""~1"'~" 

(4) 99.4 ~ 'l"~1"'~" 
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51. What is the scoring system of a game of tennis? 

(1) Love -15-30-45 Game (2) Love -15-30-40- Game 

(3) Love-10-20-30 Game (4) Love-0l··02-03 Game 

~ -ffif qj) 3i<!i ~ <f'!T % 7 

(1) 0f'l-15-30-45--,r., 

(3) 0f'l-1O-20-30--,r., 

(2) 0f'l-15-30-40--,r., 

(4) 0f'l-01-02-03--,r., 

52. What should be the official timing of a 100 mts sprinter if the timing of three 
different timekeepers are 11.45, 11.48, 11.41 sec, ? 

(1) 11.45 sec. (2) 11.48 sec. (3) ll.41 sec. (4) 11.40 sec. 

100 ~ "if; "" = 'liT 311~~I''''1 'R'l'l <f'!T 5'rn -,w; <fI"l 3Wf'T-3lWT cl.'1",~q, 'liT 
'R'l'l ,"'l~r ll.45, 11.48, 11.41 ,~ % 7 

(1) 11.45 ~~ (2) ll.48 ~ (3) 11.41 ~ (4) 11.40 -,T",,,,, 

53. The term "double fault" is associated with: 

(1) Table Tennis (2) Cricket (3) Tennis (4) Badminton 

mG "~ "fiR'C" ~. % , 

(1) rn ~{l ~ (2) Fsli<k ~ (3) ~~ (4) t<;~ ~ 

54. The skill "hitting on wrong foot" is related with: 

(1) Volleyball (2) Badminton (3) Hockey (4) Tennis 

"f%f&r 3lR wr '""" ~ ~m t , o 

(1) ql",1.,,,, ~ (2) hl'1",'l ~ (3) tifql\ ~ (4) ~~ 

55. The richest source of protein is : 

(1) Pulses (2) Ground nut (3) Soyabean (4) Egg 

Il'rtR 'liT <'fiffi 'llmT <1m % , 

(1) <:Tc:t (2) 1"'li"'~ (4) ",""T 

56. Which patient should be treated first? 

(1) Patient of dog bite (2) Patient of snake bite 

(3) Patient of cancer (4) Patient of cold and cough 

'lit-., ~ 'lThi! 'liT ~ ~ flI><rr Uff'lT ~ 7 

(1) <git"if; <1'iTC"t 'liT 'lThi! 
(3) m 'liT 'lThi! 

( 11 ) 

(2) -ffiq"if; <1'iTC"t 'liT 'lThi! 
(4) ~ "J'I'T'l 'liT 'lThi! 

P.T.G. 
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57. The disease of night blindness occurs due to lack of: 

(1) Vitamin A (2) Vitamin B (3) Vitamin C (4) Vitamin D 

(3) fi1elli'H <It 

58. Harvard step test is a test for measuring: 

(1) Leg Strength (2) Cardiovascular Fitness 

(3) Agility (4) Speed of Movement 

m<rt W1" ~ 1('l> <RIO'fITT ~ uir TjjtmJ ~ • 

(1) WI ~"'-l (2) <li1~<iI~,'1l"" fik~'i 

(3) ~ IG1Ii'l <'1 (4) m 3ifq; 'fi!"\uc 

59. In which activity lactic acid system activates? 

(1) 100 mts. (2) 1500 mts. 

(3) 10000 mts. (4) 20 km walk 

film fil>'lT if OJ I<k <Ii ~fW; ffir <Ii I ~ «1 Nw ~ ? 

(1) 100 *'" (2) 1500 *'" 
(3) 10000 *'" (4) 20 M ~ Tffi'f 

60. 12 minute Cooper run or walk test is a measure of : 

(1) Speed (2) Cardiovascular Endurance 

(3) Agility (4) Muscular Strength 

12 fi'Ac: ~ 'A 'IT ~ Tffi'f <RIel"! TjjtmJ ~ • 

(1 ) m (2) ~<Ii.rrl ~~",;,\ "'~ ""''''0'''''''''' 
(3) ~1G11i'l<'1 (4) '1f<1?,""~"'-l 

61. For a strength dominant activities the diet should be rich in : 

(1) Protein (2) Carbohydrate (3) Minerals (4) Vitamins 

(1) .ntR 

( 12 ) 



62. The National level soccer tournament for school boys is : 

(1) Subrato Cup (2) Durand Cup 

(3) Federation Cup (4) Santosh Trophy 

~ <m't <I> ~ ~ @X m "l':"<'l "fi1"1fi1<11 i . 
(1 ) wrill <!>'l (2) ~ <!>'l 

(3) q)~),,'1 <!>'l (4) ~ ~ 

63. Clean and jerk and snatch terms are related with: 

(1) Wrestling 

(3) Shot put 

~, 10i ~ 10i ~ W'lf.\m i . 

(1) ~ '" 
(3) me:JC '" 

(2) Weight Lifting 

(4) Hammer Throw 

(2) tc r;,[il"" '" 

(4) ffi cit '" 

11 P/22212 

64. The degree of uniformity with which various tester score the same test is found 
through? 

(1) Validity (2) Objectivity 

(3) Reliability (4) None of these 

f<WFl YlTa!<Ii\ liNT 1fil' tT YlTeJUf <I> = 3i<!If <I> oft"! <1'N"Qd I Wi! m V!1 ~ l\ 

(1) ~r;,I%e1 liNT (2) 31'.Jif<\cFik'1 liNT 

(3) R<'lI~flIr;,e1 liNT (4) ~ '" ~ ."jj 

65. Which philosophy of education was also considered as experimentalism? 

(1) Realism 

(3) Naturalism 

(2) Pragmatism 

(4) Idealism 

fmn <PT ~-<lT ~ "111' '" I " <I> 'lJll '" "O!T'1T = l\ 7 

(1) 'l~ (2) """oIR", "'ffi~'" 

(3) "'1'fi1",,, (4) 31'"'\''''' 

( 13) P.T.O. 



11 P/22212 

66. The father of Swedish Massage was: 

(1) Guts Muth 

(3) John Basedow 

'{<j~~" .'f'<lTU! 'l>T fltm '11 : 

(1) ~ 'l"f 
o , ' 

(3) U!A 'H1<;1" 

(2) Per Henrik Ling 

(4) Franz Nachtegall 

(2) 'R ~ fWr 

(4) l!iiUl ~ if<' ' I "! 

67. ·Which of the gymnastic apparatus is not a part of women gymnastic ? 

(1) Floor Exercise (2) Vaulting Table 

(3) Balance Beam (4) Pommeled Horse 

~ ~ [i)j"1I~'" 'l>T m-'RJ ~q"'<OI ~ [i)j"1I~'" 'liT ~q""ol 'fiff i ? 

(1) 'fill< ~<R1<<1I.'" (2) ~r rn 
(3) lh'R! oiP1 (4) ~ tim 

68. Which of the following bone will help to identify the sex of a person? 

(1) Skull (2) Femur (3) Scapula (4) Pelvic bone 

A"1Fc1IU<1 ij ~ m-<1'r ~ ''If<ffi $ fWr >TIC! m ij '(1,,1'1'" i ? 

(1) """ (2) ~ (3) fil\g"" . (4) ~ $I "'~ 

69. Which of the following swimming strokes doesn't start from outside the pool? 

(1) Breast stroke (2) Back stroke (3) Free style (4) Butterfly 

A "1 Fc11U <1 ij ~ m-'RJ R'<1 fi'i 'I $ I'" $ i1'TO< ~ '!l'" 'fiff o'rm i ? 

(1) ffi: $ (2) ~ $ (3) l!ft ~ (4) """""{ 

70. Which age is related to puberty? 

(1) Chronological age 

(3) Mental age 

m-<1'r <l1I 'It<R ~ ~ i ? 

(1 ) ihH "" [i)j '" '" <l1I 

(3) i\uci!l <l1I 

( 14 ) 

(2) Anatomical age 

(4) Physiological age 

(2) ~'il"'fi'i",,,, <l1I 

(4) ttl> [i)j m "" [i)j '" '" <l1I 
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71. Dynamometer is an equipment which is used to measure: 

(1) Strength of Muscle (2) Angle ofJoint 

(3) Blood Glucose level (4) Blood lactate 

'5lq'''jl1~t?ici( erg I3Qcpi( UI t vIT ~ ctR"m t : 
(1) ~ql\~ (2) ~ <!iT <!>lUJ 

(3) ~ l'i '''1:0;1''' ql\ 'lP-fr (4) ~ l'i ~ Rc 0; ql\ 'lP-fr 

72. What is the colour of background of Olympic flag? 

(1) Yellow (2) Sky blue (3) White (4) Black 

"1'101 fit< 0; <f; ~ <!iT 3!l'IR ~ qm 6Tm t 7 

(1) <ftorr (2) 311"'lI"l (3) ~ (4) 'liT<'IT 

73. The law of acceleration is also known as : 

(1) Law of inertia 

(3) Law of momentum 

~ <f; f."r<r<r qir 3l'R '<l\ <m<T omrr t , 
(1) "U1"'5ffi <!iT f."r<r<r 
(3) 3!Wr <!iT f."r<r<r 

(2) Law of action and reaction 

(4) None olthese 

(2) flmlr >I fi'I flI; >1 I <!iT f."r<r<r 
(4) ..,q ~ ~ "'ft\T 

74. Concentric and eccentric contraction are the classification of: 

(1) Isometric Contraction 

(3) Isokinetic Contraction 

0;11{lGo; '1'i ~o;{lf.'j;o; q,fto;<"1 t , , ,." , 

(1) 311.ffi~Fs:o; o;l{"" <!iT 

(3) 31IFno;l.~f?;o; o;l{"" <!iT 

(2) Isotonic Contraction 

(4) Static Contraction 

(2) 311."klf.1o; o;l'li"" <!iT 

(4) ~f?;o; o;l{"" <!iT 

75. Circumduction is a movement which is the combination of : 

(1) Flexion and Extension 

(3) Rotation and Hyper Extension 

(1) qOl""1 '1'i ~<ffie"" 
(3) ~ '1'i ~ ~<ffie"" 

( 15 ) 

(2) Abduction and Adduction 

(4) All these movements 

(2) ~""''''''' ""' ~"''''''' 
(4) it w1\ 'lfWf 

p.T.a. 
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76. The term "cue" is related to : 

(1) Badminton (2) Basketball 

lJil; '"'l:' tl"l f.\1 " ~ : 
(1) ~"flI",'1" (2) .,~,oi1<'1" 

77. "Federation cup" is related with: 

(1) Men Tennis 

(3) Men Hockey 

"q\ .. ~,,'1 ifiq" ~ ~ : 

(1) ~~" 
(3) ~ M" 

78. "Payyoli express" is related with: 

(1) M. D. Walsambha 

(3) Pushpa Nachppa 

.~ qiffi~tl' .,."f.\1" ~ : 
(1) ~e tic .'<'1tlRll " 

(3) ~ 'i'Til"n " 

(3) Baseball 

(2) Women Tennis 

(4) Women Hockey 

(2) P. T. Usha 

(4) Sunita Rani 

(2) qje tic ~ 

(4) ~~~ 

79. Mau1ana Abul Kalam Azad trophy is given to : 

(1) Winner of All India Inter University Athletic Champion 

(2) Winner of All India Inter University Judo Champion 

(3) Winner of All India Inter University Cricket Champion 

(4) Billiards 

(4) Overall Championship for All India Inter University Tournaments 

>II <'1 1 '11 "'l" il><'1'Jl! 3!T"<iIT"i: s;'1'!lt <!'\ ~ t : 

(1) ~ "" <I)~ 3i<R fll." f.l Ell <'1 ~ q '" ~ ~ iffi -.t; ~ "" 

(2) ~ ",,<I)~ 3i<R f.l."fllE" <'1~ ~ -.t; ~ "" 

(3) ~"" <I)~ 3i<R f.l."f.l '" 1 <'1 ~ flI>te -.t; ~ "" 

(4) ~ ~ 3i<R fll."fllEli <'1~ "fi'I '<1 ~'" -.t; ~ ~ "" 

( 16 ) 
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80. In Sports training the rest given between two loads is also known as : 

(1) Pause (2) Break (3) Intensity (4) Density 

~ >!ftre!uT '" ~ <iI >rRl '" <IT<! i( f<\1/ uWr ~ 3!NT'l 'l>T ~ t • 
(1) $if (2) tq, (3) F~ f.'.<1 t1 

81. Asana can improve our: 

(1) Strength (2) Flexibility (3) Endurance (4) Speed 

31m'! -it '.l'ffit "fT ~ t. mR\ • 
(1) = (2) (fp:l'l &11 q 'i (3) f.'1~d'<d 1 (4) '!fcr 

82. The first four aspect of Astang Yoga has the following correct sequence? 

(1) Yam-Niyarn-Asana-Pranayam (2) Niyam- Yam-Asana-Pranayam 

(3) Asana-Pranayam-Yam-Niyam (4) Pranayam-Asana-Niyam-Yam 

=M <Wr '" J:I'-l'l "IN _ 'liT ~ lP'l t • 
(1) <r'l-f.'r'l'!-31ffi'l 01'11'''" (2) f.'r'l'!-<r'l~ ol'II~I" 

(4) " I 'II '11 " 31ffi'l-f.'r'l'!-<r'l 

83. Which is an operating system of computer? 

(1) Windows 7 (2) Foxpro (3) Corel Draw 

~ -it "1!i'R '" '''1'''' 'liT 311 q ~ ~, I tmvl t 7 
(1) Rh'lUl 7 (2) 45liffi"l (3) ~ ~ 

84. Which of the following is a Sports Talent Scheme of SAl? 

(1) National Sports Talent Identification 

(2) National Sports Talent Contest 

(3) National Sports Talent Search 

(4) National Sports Talent Championship 

~ -it "1!i'R ~ <t\ 1('1' ~ ~ t 7 

(1) ~ ~ ~ 311~Jlf."cfil>q\'I'1 

(2) ~ ~ ~ "'''''*'' 
(3) ~ ~ ~ 'IC'i 

(4) ~ ~ ~ ~fi'tl'1'1l>lq 

( 17 ) 

(4) Office 7 

(4) ~7 

P.T.O. 
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85. What is the correct duration of a football match? 

(1) 75 min (2) 80 min (3) 85 min (4) 90 min 

1f'I' '!l c., '" it<r 'I>T ~ wm ~ <I"IT ~ 7 

(1) 75 fi'Rc (2) 80 fi'Rc (3) 85 fi'Rc (4) 90 fi'Rc 

86. The term "Free Tbrow" is related with: 

(1) Wrestling (2) Soccer (3) Volleyball (4) Basketball 

~ .'I!l1 w"' ~ ~ : 
(1) ~"fr (2) ~"fr (3) cfiC'11~1i;i1 -« (4) f.l1«Be:f.lI&l ~ 

87. Which of the following is the International Football controlling authority? 

(1) F1VB (2) F1FA 

(3) VFI (4) IVF 

~ "fr m 31''' ,I ~ « '!l c. I '" ~ f.1 <i " 'I m 'ITO!t 3l1il ,m R", "ffi<>:rr ~ 7 
(1) «'l>o ~ 0 <flo i:[ 0 (2) «'l>o ~ 0 «'l> 0 1/0 

(3) <flo «'l>o ~o (4) ~o <flo «'l>o 

88. Baseball is the national game of : 

(1) Canada (2) France (3) USA (4) England 

~".''" <mfj 'I>T ~ &or ~ 7 
(1) ..,,-;m;] (2) IIiffi (3) "0 '1*'0 1/0 (4) &l~U'5 

89. FINA is the International association of : 

(1) Chess (2) Swimming (3) Billiards (4) Polo 

fit;;n 3"",1'5;1« ~"jR1~,,'1 ~ : 
(1) m, 'I>T (2) RGflj" 'I>T (3) fi1 ~ «:0{" 'I>T (4) %>IT 'I>T 

90. Incus and stapes are the bones found in : 

(1) Ankle joint (2) Wrist joint 

(3) Knee joint (4) Inside ear 

~ <f'![ ~ ~ l vIT 'll<fi fl 'g : 

(1) C<lR ~ ~ if (2) ~ ~ ~ if 
(3) ~ ~ ~ if (4) "i!>R <I; ~ 

( 18 ) 



91. What does the endomorph refer? 

(1) Pyknic type 

(3) Asthenic type 

q ""'\ '11 ql 'l'lT "G"ffim 'g : 

(1) iii '" f.1 '" CW! 
(3) ~CW! 

(2) Athletic type 

(4) None ofthese 

92. If the learning aim is development of motor skill it refers to : 

(1) Cognitive learning (2) Affective learning 

(3) Psychomotor learning (4) None of these 

~ ~ 'liT Bt:m 7JT'!<!i fl!RnW 'liT <i1 '" '11 'g <IT "1l"t' "G"ffim 'g : 

(1) ","';1 ~" 0!f.Pr (2) q q\ f1)e" 0!f.Pr 
(3) 'H1.",1'1\,,< 0!f.Pr (4) ..,.J <'r q;'r{ 'l1fi 

93. Which type of Swedish Training is also known as speed play? 

(1) Circuittraining (2) Fartlek 

(3) Interval training (4) Repetition training 

fll>fI lr<IiT< 'liT <41~" " ~"" "I m 9i <Ii 'IT'f <'r ..fr U\RT "lRIT 'g ? 

(1) -m¥c ~ (2) 'l>leOl", 

(3) '"C<"'" ~ (4) RIiI~,,'1 ~ 

11P/22212 

94. The laws and principles of learning have been derived from the study oj 

(1) Bio Chemistry (2) Human behaviour 

(3) Human Anatomy (4) None of these 

~ <Ii f.'npj '!'i R1 '" h1 fffii 7f'l 'g : 

(1) 'IT'i\ </; fi1 <J;~ <Ii >fA <'r (2) 'If'1'[ '""" " <Ii >fA <'r 
(3) 'If'1'[ q'1 Ie 141 <Ii >fA <'r (4) ..,.J <'r q;'r{ 'l1fi 

95. W.H.O. Concept of health states: 

(1) A sense of total well being 

(3) Physically healthy 

~o 'f'Io oilo _ <Ii >IfIr fltm"<" 'g : 

(1) ~ <'r 'll""''' 1 

(3) ,,,{iR,,, ~ 
( 19 ) 

(2) Freedom from disease 

(4) Mentally healthy 

(2) ~ <'r '!."'" " 1 
(4) '11'1R1", ~ 

P.T.O. 



11P/22212 

96. If the length of a badminton court is 44 feet, what be its length in meter? 

(1) 13.41 mts (2) 15.42 mts (3) 12.52 mts (4) 16.66 mts 

mit "'" hf1'l"''' 'lilt qft ~ 44 1J\'rc ~ <IT ~ ~ >frex l'i <mT ~ 7 

(1) 13.41>frex (2) 15.42>frex (3) 12.52>frex (4) 16.66 >frex 

97. Which of the following is not a measure of central tendency ? 

(1) Mean (2) Range (3) Median 

f.'l"'1 ~ rt." l'i it 'li'R-"ffi ~ Wjfu i!iT 'IT'! 'fiff ~ 7 

(1) 'IJ&I (2) flR<lR (3) ~ 

98. What is golgi tendon apparatus? 

(1) A big tendon 

(2) An equipment for measuring tendon strength 

(3) A kinesthetic sense organ 

(4) None of the above 

~ m ~q~e<1 <mT ~ 7 

(1) "'" ~ m 
(2) m qft C!Ti!>f! ~ i!iT "'" ~ q ,,"'I 

(3) ~ fficr i!iT "'" 3M 

(4) ~ q 1"" l'i it q;'r;f 'lBT 

99. In which game the "Libera" is used? 

(1) Table Tennis (2) Hockey (3) Football 

~ <tor l'i "~" i!iT ~ q'li., lffirr ~ 7 

(1) ~ ~ (2) liii!lT (3) '!le<li<'1 

(4) Mode 

(4) ~ 

(4) Volleyball 

(4) ",on"", 
100. For a better performance in any sports what form of anxiety is required? 

(1) Maximum anxiety (2) Minimum anxiety 

(3) Optimum anxiety (4) None of these 

~ ~ <tor l'i ~ ~ tg ~ lIi!iTi[ qft ~""'.<'.1 (~) ~ ~ 7 

(1) ~ ~"",.e~ (2) "{""" ~"""~ 
(3 ) ""IZ" " ~ "" I. ~ (4) 1I'l"! it q;'r;f 'lBT 

( 20 ) 



~ * ~ f.!li!~1 
~ ~ '" lI'I'l3!f<NUT-'i'" 'R "'" ""'-'BI <I; m'l""t 'R *"" 410ft/om;/) ~-~ q.,. ,1 jj) R;<l) 

1. lI"R gf«1i1> 1 fi'K;R " 10 fiRe " 3R'1 tt ~ c:t fin m q~ if w1i '1'" *¥ ~ 3i\< <ctl 
lI"R '!P 'Itt ~ I gfffi if> 1 "l.sm qpl "If.r 'R. ~ 'l,'RT "<'1>1'" if>ef f.'Rlalif> 'lIr ~ 
WT'i ''''1 q~ qft ~ gfffi if> 1 = if>'I ~ I 

2. tR1efT 'f1R if ~ .. / .. / 'ffbrr JIffl-'1'f <Ii iJ/frlRiffl. iWlrT 'IT 'ffiGT <ctl oft W'fT if>T'T<i! <n>:r if 

" <'!fij, 

3. i3<R-'P-! 3f<'1'T ,'r ~ 'I'lT ~ I ~ 'f fir # 3I'Iv 'f lit ~ 'Iff 1 'i,'Iffi elN- '1'f 'flit 
F<fllr ",dl'lIl <Ii1fC'f '<ffl'I"-'1'f 'ffT lit 'I.i"Iiq;~ fi/i71T ",dim 1 

4. 3N'lT iJ/jiPlfiq; ffIl{f '<ffl'I"-'1'f 'ffT ifi1ffq; flOl1f iJ//q<"I-'["O 'I"( ~ <t f.'m\fW ~ 'R 

~I 

5. '<ffl'I"-'1'f <Ii flOl1f '["0 'I"( ~ <t iJIll'fT iJ/jiPlfiq; f./E/!IW fflT'f 'I"( f&1 ffI!IT #it fW 2fiI' 
'Iff 7fTi!T 'If< <f 1 ;;;r;ff -;;;r;ff iJ//W/q; it 1fiff JIf'f-!J{fflq;/ 'ffT ifi1ffq; ffI!IT ffi; 'ffT 'f1'iff 

'ilflI"a ~ 'I"( f&11 

6. <lito '1'10 3[1<0 'P-! 'R 31jMiif> <fum, lI"R-gfffi if> 1 <fum q <lc <fum ~ <ctl lit) <I'll 

lI"R-gfffi if> 1 'R 31jSl>'iiif> <fum 3i\< <lito '1'10 3[1<0 'P-! <fum qft "fl1~lll if ~qROi,",'1 qft 

~'Itt~1 

7. ~q'l"" "f<1~lll if <ctl oft qRqct'i if>ef f¥\_ am "'i 1 fil", N1T ~ 3Rf.!lT m< \[if> 

~ <mA if>! wWT 'IT'iT ~ I 

8. lI"R gfffi if> 1 if ll<'iif> lI"R " "IN fu~ if>""f<:q"""'if> i3<R ~ 'T'l 'g I ~ JIf'f <Ii 4q;{i;qq; '<ffl'I" <Ii 
~ ilI/TI1Iff elN- '1'f 'lit ~ rtfiffl' <Ii WI'f't fW 7fit '[ff 'Iff elN- '1'f <Ii flOl1f '["0 'I"( 

fW 7fit f.tifm <Ii ~ *' <t 7fTi!T 'lffffl ~ I 

9. ll<'iif> lI"R " i3<R " ~ *"'" \[if> tt '[<I 'lIr 7J1ifT oR I \[if> ,'r ~ '[ill 'lIr 7J1ifT m 
'R 3!\1!'lT \[if> '[<I 'lIr ~ ~ 'R qg i3<R 'Tffii' 'IT'iT ~ I 

1 O. fZlT'f <f fiI; '[iff 'fI'( 'Rmft lfl'{f a;fiI;rr '<ffl'I" ~ 'flit 'GfT 'fI7ffffT ~ I ~ 3!]q f<lrn\ lI"R 
if>! '<ffl'I" 'flit <t'fr '1I"6ff t ct ~ ~ " ~ ~ 'T'l w1i '[ill 'lIr ~ uts <)' I 

~ rn 'R ".!:'I 3i<I> ~ ~ I 

11. <CO if>l<i " ~ ~ gfffi if> 1 " !l'"'~'" " 3iG<' <rR'IT '1'" <I'll aif<rr ~ '1'" if>! wWT 
oRl 

12. <R'tlffi " ~q"", <Ii1fC'f afto !{Ifo amo elN-'1'f tt <R'tlffi 'f1R if "f'iT oR I 
13. tR1efT 'fI'!T'<! Nit ,'r ~ <R'tlffi 'f1R ,'r 0'16<' "If.r qft ~ 'Itt oM! I 
14. ~ qIr-{ 3fRIo1T tR1efT if ~ ~ if>! wWT if>'IID t ct qg f<tfl1n,qrfflfl1fTI"",1 ",RIll am f.'m\fW 

<t:;; if>! / qft 'fT'fi 1Wrr / oM! I 
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